STAT 106

EXERCISE 9
1. Let X be a continuous random variable for which
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Find:
(a)  
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(b)  
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(c) 
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(d)  
[image: image7.wmf](3.54.9)

PX

<<

,
       (e)  
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2. Let X be a continuous random variable for which
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Find,
(a) 
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(b) 
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(c) 
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(d) 
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3. Let  X is N(8 , 
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Find:   (a)
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,  (c)
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(d) the value of 
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4. It is known that the waiting times (in minutes) of patients at a certain clinic are N(12, 16). Find the percentage of patients who wait at clinic. 


(a) for more than 9 minutes,

(b) for less than 10 minutes,  


(c) between 8 and 14 minutes.
5. The weights (in kilograms) of students of a certain school are normally distributed with mean 40 
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and standard deviation 5 
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. Find the percentage of students who weigh 

(a) less than 50
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 ,  (b) between 30
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and 55
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,  (c) more than 45
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6. If X is N(12, 6.25),  find

(a) 
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(b) 
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(c) 
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(d) the value of 
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 such that 
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7. The heights of students of a certain school are normally distributed with mean 160
[image: image35.wmf]cm

 and standard deviation 8
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.  

      (a) What proportion of students have the heights between 152
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 and 

      176
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?
      (b) If 25% of the students are more than 
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tall, find the value of
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